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Section A (40 marks)

For questions 1 to 20, four options are given. One of them is the correc! answer.
Make your cheice (1, 2, 3 or 4). Shade the correct ovals (1,2, 3 or 4)

onto the Optical Answer Sheet provided. Each question carries 2 marks. -

1. What is the value of the digit 8 in 68457

(1) 8

(2) 80
(3) 800
(4) . 8000

2. In which of the following is the digit 7 in the thousands place?

(1) 17 542
(2) 24072
(3) 36758
(4) 72659

3. Which of the following has tf_le greatest vaiue?
S (1) 340X1 =

(2) 340X 10

(3 } 34 X 100

{4) 34X1000




s

4. Complete the number pattern .
23 200, 23 506, ___ ., 24 100

(13 23600

(23 23700

(3) 23800

(43 23900

5. 12 349 when rounded off to the nearest 100 is

—

(1) 12000
(2) 12300

(3) 12350 i
(4) 12400 -

6. Which number is a common multiple of 2 and 37
(1) o
(2) 8
(3) 6

(4) 4

7. How many Guariers are therein 2.2
12

O W N,

BN



8. Refer tc the line graph below :

-
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Bus Bicycle Car MRT

The graph shows the number of pubils taking different types of fransport
home in a primary four class.
What is the total number of pupils taking the bus home?

(1) 9
(2) 10
(3) 11

(4) 12




For Questions 9 and 10, please refer (o the 8-point compass below.
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9. Adam is standing in the middle of the 8-noint compass facing
South. Where will he be facing if he makes a 1 -turn 1o his right?
4

{1) West
(2) South-West
(3) East
{4} Souih-East

10. Adam is now facing North. How many degrees will he need to turmn

to face South-Fast?

L (1) 45
T {2) go
{3} 135

. {4) 18g°

Ja.



11. Whatis the area of a rectangle of length 12 cm when its breadth IS
half its length? -

12 cm

{1) 24cm?

(Z) 36cm?
(3} 48cm?
(4) 72cm?

12. What is the difference in area belween the 2 squares below?

8m

5m

i
(1) 25me
._‘{._(2) 39 m*
(3) eame
{4) ggme




13. The figure below shows a rectangle. it is not drawn o scale. lis perimeter

is 48 cm. Find its length.

4 cm

{1) 12cm
(Z) 20cm
{3} 24cm
(4) 40cm

14.  Sanjay spent $8 and saved the rest. If he saved $4, what fraction of the

money did he spend?

(1) 1
(2) 1 _
3
(3) 2
(4) 3
4_

15. A book costs 4 timas as much as a pencil case. The book costs $20.

How much does it cost to buy a book and a pencit case?

(1) $4
(2) $5
(3) $16
{4} $25



16.  Kenny gave 2 of his paper clips io his friends and l% of them to his

brother. What fraction of the paper clips did he give away?

(1) 6
| 19
(2) 9
T
{(3) 6
15
(4) 1 )
05 B

17. Adam bought 5 kg of sugai. He used 1 4lkg of it to make a cake.

How much sugar did he have left?

(1) 1
6— K
p g

{

(2) L1

(3) .3
3=k
4 g

(4)

-~




=
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18. Lily had % m of ribbon. She cut away — m. What is the length of the
A :

ribbon left?
{1) 1
- m
3
(2) 2
—m
) 3
(3) 1
4
{4) 3 _
—m
4

19. James had to repack his picture cards into packs of 5.

How many packs will there be if he has 235 picture cards?

(1) 45
(2) 47
(3) 50

20 Hasar’s salary is $4375. He gives $700 to his parents, spends $1540
and saves the rest. How much does he sava?

(1) %2025

(2) %2135

{3) %2835

(4) $3675



Section B (40 marks)

For questions 21 to 40, show vour work King clearly in the space helow each
question and write your answer in the answer boxes provided. Give your answers
in the units stated. Each question carries 2 marks.

21.  Write in numerai:
Eighty one thousand, six hundred and nine,

=

| S—

22:  Form the smallest four digit even number using af! ‘ﬁ

the digits listed below.

I

8 1,6, 5

23.  Find the sum of all The factors of §. ’ i

24, s 1084 + 549 I

Round off_ each of the above numbers to the

nearest hundred. Then estimate the sum of the two

numbaers.

25. 33 )
. Express ry as a mixed number.

28. Express 5% as an improper fraclion.
.:’; .

o]

O




27.

" 1 .
A bottle contains 5 £ of apple juice. Kumas pours

. - oy .
out - £ of the juice. What is the amount of the
8

apple juice left?

28.  John

bought 12 sweets. He ate 2 sweets and gave
7 sweets to his friends. What fraction of the sweets - -

had he left? Give your answer in its simplest form.

29. 10 children ate i— of a pizza each. How many r
, i
pizzas did they eat altogether? Give your answer in
its simplest form.
30.

Using iine QR drawn below, draw and label / PQR =85°,




<1. Measure £z in the diagram shown beiow.

32.  Draw a line perpendicutar to EF through the point G.

“G

F

33. Drawaline paraltel to line AB through the point P.

f;l‘

ii




35.

36.

3

There are 260 apples in a box. 8 cf them are green

apples and the rest of them are red apples. How

many red apples are there?

The figure below shows 2 identical squares. it is not
drawn to scale. The area of a square is 64 cm”.

Find the permeter of the figure.

The figure below shows 2 squares. It is nof drawn 1o
scale. The penmeter of Square B is twice the
perimeter of Square A. If Square B has a permeter

of 72 cm, find the area of Square A.

cm

LY I




The bar graph shows the number of pupils who have internet access ai home in

four different classes. Study the graph carefully and answer questions-38 and

=3
497
30—
Number of i ——
Pupils 20; T _ Fﬁ
10—
G‘k 1 T T —
_ 4A 48 4C 4D
Name of £4 Class
37. Complete tf_we‘ table to show the information given in the bar graph.
Class 4A 4B 4C 4D
With internet 30 28
access

38.

many pupils do not have an interna! access at

If there are 161 pupils in these four ciasses, how F
home?

lad




39.

40.

The figure below shows 2 identical rectangles,
ABEF and BCDE. They are not drawn to scale.
Find the sum of £ ABF and ~/ CBD.

A B C
55°1-
F E D

A square of side 4 cm has been cut out from a
rectangular piece of paper as shown below. Only 6
such squares can be cut out exactly from the
paper. Find the length of the rectangular piece of

paper.

. 8 cm 1 N |

i4

cm




Section C (20 marks)

For questions 41 fo 45, show your working clearly in the space below each
question and wrile your answers in the blanks provided. The marks for each
question or part question are given in the brackets.

41.  Hashim went fishing vesterday.

9
He caught $kg of fishes. %lgg of fishes were large and the rest were small

. fishes? How many more kilograms of large fishes than small fishes were

 there?

Answer: {4 m)

[
W




42.
% E of Ihe fowars in a shop were sunfiowers, :Il-nl' tham were wlips an

oSl ware reses.

(&) Whai fiaction of the llowers weare roses? aﬂnll

(b) i there were 120 wlips, how many sunfloweis and roses weie therg?
.

Answer: (a) . (2w}

{9) {2 m)




There are 456 sweets. They are packed inio small packets of 6 sweels each.
These packets are then put into some similar containers. Each container can
only hold 8 packets of sweeis.

{a) How-many packets of sweets are there?

(b} How many similar confainers are needed to put aii the packets of sweets

in?

Answer: (a) ‘ (2m)

; ' (2 m)




T LS

Jenny has four times as many ribbons as Siti. They have 360 ribbons
allogether. '

{a) How many more ribbons does Jenny have than Siti?

() How many more ribbons should Sili buy 50 that she will have twice the

number of nkbons as Jenny?
_.?!"-

Answer: (a) 42 m)

{b) = {2 m)

18



45.  Doliah has a total of 38 notes. They are made up of $2 notes and $10 notes.

He has 6 more $10 notes than $2 notes. He has $252 in (oial.
(a) How many $2 notes doas he have?

{b) How many $10 notes does he have?

Answer: (a) - {Z m)
{0} (2 mj

~END OF PAPER~

Heve you checiced sour work thoroughiy?
R r ~

i9
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